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Please make sure that the printed pages in this

question paper are 15 in number and it contains

17 questions.
o gy7-gy # R & # ot BRF 1@ FE dW™T H GF

SHv-gRaH F JEI-g8 9T ki@t
The Code No. on the right side of the question paper
should be written by the candidate on the front page
of the answer-book.

* FUF IFT H FAT fi@T @ B @ GE, IIT H FHNE
el e
Before beginning to answer a question, its Serial
Number must be written.

4804 Fal. @



(2) 4804
o GGRaHE % & 7 @il g/ 9% T 8181

Don’'t leave blank page/ pages in your answer-book.

» JTCYRaE @ GlRFT B o Sic TE A o
STTSTFAFAT 8 frd ST for@r gae T #rel

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o gOEEl ST W do F9F-UF 9T Havq ki@
Candidates must write their Roll Number on the
question paper.

® YA [T F GOT &7 @ §d I8 GARad #T d [F J97-9
g7 g wE B qm @ O 59 R F #ig W amar
w@hwre 78 A T

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G R :
General Instructions :
(i) & geT Snfvard 8
All questions are compulsory.
(i) 39 7$7-94 H Fa 17 §97 8, o [ aw-gest
T Fgevgdae e

&% 97’ &7 @% 7 gF 597 2 fGad
THT & GA8 (ixvi) T97 B g%
gs7 1 ofF F7 21 TEl Guv on
gar-gitaar 4 kral
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&% T: FT@T T2 76 7% FT Ga 57
2 g% J97 3 ofHl # B

&% @ FET AT 12 7F A & 997
g % geT 4 o7E a7 &

&% T §7 &% 713 § 17 7% F7 Ua
g97 & grdw g9 5 oH @ &

This question paper consists of 17 questions
in all, which are divided into four
Sections : A, B, Cand D :

Section ‘A': This section consists of one
question which has Sixteen
(i-xvi) Objective type questions,
each of 1 mark. Write correct
answer in your answer-book.

Section B': This section consists of five
questions from 2 to 6, each of
3 marks.

Section 'C': This section consists of six
questions from 7 to 12, each
of 4 marks.

Section 'D': This section consists of five
qguestions from 13 to 17, each
of S marks.

oY @Y @ #E Ay 78 & dleT @ T F @
geat & el Reey Ry 7w &1 07 go71 4 @
STTYFH BT §F B FeT FHeel 21

There is no overall choice, but in two
questions of Section D' internal choices are
given. You have to attempt only one of the
given choice in such questions.
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SECTION - A

Frafaraa & & S@-A1 g ooy e & 7 1

(&) 2416 (B) 336
(C) 88 (D) 4449

Which of the following numbers is an
irrational number ?

A) 2J16 (B) 3436

(C) 8V8 (D) 4449

90 X 105 H H.C.F. B : 1
(A) 90 (B) 105

(C) 18 (D) 15

The H.C.F. of 90 and 105 1is :

(A) 90 (B) 105
(C) 18 (D) 15

fead W 3x°-4x+6 & A W AT
T hifeTd) 1

Find the sum of zeroes of quadratic
polynomial 3x2-4x+6.
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(iv) FrfaRa & & SF-a1 doig Zel® 6 9898 5 7 1

v)

1
a) x*/%+5 B —-1

(C) 2x%2+3x+1 (D) o
X

Which of the following algebraic expressions
is a polynomial ?

A) x2/3+5 (B) -x—2—1

C) 2x2+3x+1 (D) x++2

X
fEmm T 2% - 7x+3 =0 & et 7@
FHIToTTI 1
Find the discriminant of quadratic equation
2x° -7Tx+3=0.

(vi) IRg® AT IH 6x-3y+10=0 T 2x-y+9=0

& T feaor @t 3@ B o 1
(A) uRrRd e

(B) wHiaT Y@

(C) durd @

(D) &H & Hig T8
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The graphical representation of pair of linear
equations 6x-3y+10=0 and 2x-y+9=0
will be :

(A) Intersecting lines
(B) Parallel lines

(C) Coincident lines
(D) None of these

B ATPLq, 10,96, 22 ... ..k % 20df I T
HifoTq 1
Find 20th term of an A. P. 4, 10, 16,
DD s ;

(viii) A. P g,gu%§ .......... &1 T S B 1
Find the common difference of an A. P.
5 913
LR

(ix) TSged (8, 5) @ (5, 7) % &= & gl 3 1
a) 8 B) 415
(C) 40 (D) 12
The distance between two points (3, 5) and
(5, 7) will be :

(A) 8 (B) 15
(C) ~40 (D) V12
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gt (7, 6) @ (-3, 4) B Fam a YEETE

7eg g a B 1

Find the mid point of the line segment

joining the points (7, 6) and (-3, —4).

(xi) TR tanA:—;- 2, @ cos A F T4 T Hiorqr 1

If tanA= % then find cos A.

(xii) sin 60° — cos 30° F AN T HioTq 1

Find the value of sin 60° — cos 30°.

(xifi) 3% FeaTETE @ HOT 6 B @, @Y FeuwErs @

#hel B G BT 1
(A) %nrg (B) 2nr
€) nr? (D) %x?nr

If the angle of the sector is 6 then the

formula for area of minor sector will be :

(A) %urz (B) 2nr
(C) mr? (D) B o

360
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(xiv) TF 9% F I TE AABA S0 B (oreEt

L]

B 9 e SaE w99 4 A qr 3 AW B 1

Find the curved surface area of a cone
whose radius and slant height are 4 cm and

3 cm respectively.
(xv) Ak P(E) = 0.01 B, @ P(E) &1 A s o) 1
If P(E) = 0.01, then find P(E).

(xvi) I F TF G IV W G 8 UK FIA B
1 p2 e M e e 21 L 1

A die is thrown once, find the probability of

getting a number 8.
@E-q
SECTION - B

2. 867 a 255 # Fkie fAuem WAR¥H ZW FoHodto
(H.C.F.) siid &g 3

Use Euclid's division algorithm to find the H.C.F.
of 867 and 255.
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. feam @gwe °-15 & g% a9 A AR g W
Tﬁ%ﬁa%waqﬁwﬁmaﬁﬁm 3

Find the zeroes of quadratic polynomial t*-15
and verify the relationship between the zeroes
and the coefficients.

i ol Al RRer e 7 | s § 7 3

How many three digit numbers are divisible by 7 ?

. fGEme & : tan48°tan23°tan42°tan67° =1 3

Show that : tan48°tan23°tan42°tan67° =1

frifoie arelt el srae A o faew ad # 9w ge
At @t o1y F g B 3

oy (et &) |5-15|15-25 | 25-35 | 35-45 | 45-55 | 55-65

Jfr i dem | 6 11 21 23 14 5

SUGFT SATFSl H A G B

The following table shows the ages of the patients

admitted in a hospital during a year :

Age (In Years) | 5-15 | 15-25 | 25-35 | 35-45 | 45-55 | 55-65

No.

of Patients 6 11 21 23 14 5

4804

Find the mean of data given above.
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SECTION -C

A R s 4

= |

s2=iB e 2 4% o o
y x y

Solve the following pair of equations :

+§:13 and E—i:—Q
y

X Yy

=

8. T HEAs & X 26 ¥ AR uH wEa gEdl e &
@ T B 3% F i 4

The difference between two numbers is 26 and

one number is three times the other. Find them.

9. x-3 W ¥ farg s H s (2, -5) T (2, 9) A
g B 4

Find the point on the x-axis which is equidistant
from (2, =5) and (-2, 9).
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10. k & WM #I0 & Ak &g (7, -2), (5, 1), (3, k)
i 4

Find the value of k if the points (7, -2), (5, 1), (3, K

are collinear.

11. TF O ©d T 24 To Uit Hier i & § a8 T
N &F 5280 o ©l ¥ @A H 0.50 o Wi a HieX
H W AR FAE A B TG B OGS B B A
T FHifTg) 4
The cost of fencing a circular field at the rate of
¥ 24 per meter is ° 5280. /The field is ta be

ploughed at the rate of ° 0.50 per m?2. Find the
cost of ploughing the field.

12. 52 UGl P T TP G Bel T TH TS A T TP G
forepren wtrar 81 Frefafag @t o B # Wi S
FHifeT 4
(i) 9= H IAH
(ii) @& T H T G 9T
(i) &FF @ T
(iv) g€ & TH

4804 PAT. @,



13.

14,

4804

(12) 4804

One card is drawn from a well shuffled deck of

52 cards. Find the probability of getting :
(i) the jack of hearts

(ii) a red face card

(iii) a spade

(iv) the queen of diamonds

Qs -1
SECTION -D

Q8 & FAFG o9 g9RAs Yol S Hire s e
& I 290 Bl 5

Find two consecutive odd positive integers, sum

of whose squares is 290.

39 A.P. % 319 95 Fq i@ Brge 1141 95 38 B
AT 16487 9T 73 Bl 5

Find the 31st term of an A.P. whose 11th term is

38 and the 16th term is 73.
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15. MR & MOX q 3T T T @ § 4 #e? A 9 #ex
gl W Reaw @ g 4 4R # eR g
T T T 21 RS B F TR B HAE 6 HieT
B 5

The angles of elevation of the top of a tower from
two points at a distance of 4 m and 9 m from the
base of the tower and in the same straight line
with it are complementary. Prove that the height

of the tower is 6 m.

HYAr
OR
e #ifs 5
(cosec 6 — cot {-Il]2 =%%-zz§
Prove that :
1-cosb

(cosec 8 — cot 8)% =
1+cos®

16. % i & B @i e $o8 4 T & a0 59 o
et & ufvm (aRfEr) 18 i ¥t 6 O ¥ 50 Rom
F 9% JOM ATHA HG HITC 5

The slant height of a frustum of a cone is 4 cm
and the perimeters (circumferences) of its circular
ends are 18 cm and 6 cm. Find the curved surface
area of frustum.
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17. F=fafaa sifeel & 91egs sa $ieig 5
7t =TT |65-68|68-71| 71-74 | 74-77 | 77-80 | 80-83 | 83-86
aTRr | 2 | 4 3 8 7 4 2
Find the median of the following data :
Class |65-68|68-71|71-74 | 74-77 | 77-80 | 80-83 | 83-86
Interval
Frequency| 2 4 3 8 7 4 2
HYar
OR
Frrfofta aRaRar de @1 950 I B 5
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